
Osnovi elektronike – Odsek SI  Januar 2017. 

 

 

REŠENJA 
 
 
 

1. a)  EEGI V
R

R
vv

0

1+=  

b)  CCGI V
R

R
vv

0

1+=  

 
 
 
2. a)  

 
 
b) c)  

 



Osnovi elektronike – Odsek SI  Januar 2017. 

 

 
d)  

 
 
 
 
3. Q-zasićenje; D-uključena; mA2.4=Ci  

 
 
 
 
4. a) kΩ250 →R  
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b) mS98.3=mg  Ω= k1.25πr  

 
c) 0→PV , a ako se računaju bazne struje onda je 19=PV µV. 

 
 
d) 0.04−=−= PmRga  
 
 
 
5. a) kΩ3.31 =SR  kΩ7.62 =DR  kΩ53 =SR  kΩ1.41 =DR  kΩ4.22 =SR  

 
b) ∞→ulR  Ω≈ 455izlR  

 


